
White: Vincent Denard (1003) Bodley Cup 2014 (2)
Black: Mark Dennehy (1019) St.Benildus Chess Club

2014.10.01
Result: 0-1

Analysis Scoregraph:
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1 e4 c6

2 d4 d5

3 eXd5 cXd5

4 Nc3

Wait, what? That’s not in the exchange variation. It’s

not in any of my basic opening books, or in the MCO...
-0.01

4 . . . Bf5

Well, if he won’t block me from doing it with Bd3, I’ll

go ahead and play the natural move here... +0.23

5 Nf3 Nf6

Hummed and hawed a bit here wondering if I should

do this or e6 first, but couldn’t see a reason not to and

didn’t think bringing out the queen so early if he played
Nxd was the best approach. +0.13

6 Bf4 e6

Didn’t think Bf4 was doing anything other than attack-

ing a covered knight and developing, so I got on with my
development. +0.44

7 Nb5

8rm0lka0s
7opZ0Zpop
60Z0Zpm0Z
5ZNZpZbZ0
40Z0O0A0Z
3Z0Z0ZNZ0
2POPZ0OPO
1S0ZQJBZR

a b 
 d e f g h

Wallop. That was unpleasant. Obvious threat is now

Nc7+ +0.63

7 . . . Bb4+?c
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And I’m toast. For some reason, that Knights-on-the-
rim-are-dim phrase stuck in my head and I was thinking

that Na6 wasn’t the better move here and I could go

round the knight with the bishop to defend the c7 square;
but it sooooo is. This damn near lost me the game in 15

moves. +2.65 / +0.63

8rm0lkZ0s
7opZ0Zpop
60Z0Zpm0Z
5ZNZpZbZ0
40a0O0A0Z
3Z0Z0ZNZ0
2POPZ0OPO
1S0ZQJBZR

a b 
 d e f g h

7. . . Na6 8 c3 Be7 9 Ne5 Nd7 10 g4 Be4 11 f3 Bg6 12
NXg6 hXg6 13 Bd3 Bh4+ 14 Kf1 Qf6 15 Bd6 Bg5 16

Kg2 Be3 17 Qe2 Qh4f

8 c3 Ba5

9 Nd6+

8rm0lkZ0s
7opZ0Zpop
60Z0Mpm0Z
5a0ZpZbZ0
40Z0O0A0Z
3Z0O0ZNZ0
2PO0Z0OPO
1S0ZQJBZR

a b 
 d e f g h

And there it is, the move I missed. That’s castling rights

gone and a pawn to boot. +2.75

9 . . . Ke7?h

8rm0l0Z0s
7opZ0jpop
60Z0Mpm0Z
5a0ZpZbZ0
40Z0O0A0Z
3Z0O0ZNZ0
2PO0Z0OPO
1S0ZQJBZR

a b 
 d e f g h

The engines strongly disagree here and for good reason;
I’m looking to let the rook out before hiding behind an

undisturbed pawn wall, but I’ve missed some nastier

tactics the engines are seeing. +5.26 / +2.75

9. . . Kf8c

10 NXb7?h

And another lucky escape for me there. +3.17 / +5.26

8rm0l0Z0s
7oNZ0jpop
60Z0Zpm0Z
5a0ZpZbZ0
40Z0O0A0Z
3Z0O0ZNZ0
2PO0Z0OPO
1S0ZQJBZR

a b 
 d e f g h

10 Qb3 b5 11 BXb5 Kf8 12 Nb7 Qb6 13 Qa3+ Kg8
14 QXa5 QXa5 15 NXa5 h6 16 h4 Be4 17 Ke2 a6 18

Ba4 Nbd7 19 Bc6 Ra7 20 Rag1 BXf3+ 21 KXf3 Kh7

22 g4 Rd8 23 g5h

10 . . . Qb6

8rm0Z0Z0s
7oNZ0jpop
60l0Zpm0Z
5a0ZpZbZ0
40Z0O0A0Z
3Z0O0ZNZ0
2PO0Z0OPO
1S0ZQJBZR

a b 
 d e f g h

Only place for the queen to go. +3.41

11 NXa5?!c

Wasn’t expecting that, but I’ll take it. And it’s a
very very lucky escape - the only other game I could

find with this opening was Huesemann v Schulz, in

round 3 of BEM-ch U16/18, 1998 and there white
played Bd6+and the natural Ke8 was followed by

Qa4+ and the game ended in resignation on move
15 after some utter mangling of black by white:

http://www.365chess.com/game.php?gid=912554

+2.23 / +3.41
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8rm0Z0Z0s
7o0Z0jpop
60l0Zpm0Z
5M0ZpZbZ0
40Z0O0A0Z
3Z0O0ZNZ0
2PO0Z0OPO
1S0ZQJBZR

a b 
 d e f g h

11 Qb3 QXb3 12 aXb3 Bb6 13 Bd6+ Kd7 14 Ne5+

Kc8 15 NXf7 Rg8 16 Nc5 BXc5 17 dXc5 Kb7h

11 . . . QXa5

8rm0Z0Z0s
7o0Z0jpop
60Z0Zpm0Z
5l0ZpZbZ0
40Z0O0A0Z
3Z0O0ZNZ0
2PO0Z0OPO
1S0ZQJBZR

a b 
 d e f g h

12 b4?!f

I didn’t see the Qb3 move here that the engine’s talking

about, but it’s right, it’s better. Keeps the pressure up
on me and eventually wins material but more, keeps me

frazzled. +1.42 / +2.23

8rm0Z0Z0s
7o0Z0jpop
60Z0Zpm0Z
5l0ZpZbZ0
40O0O0A0Z
3Z0O0ZNZ0
2PZ0Z0OPO
1S0ZQJBZR

a b 
 d e f g h

12 Qb3 Nbd7 13 a4 Kf8 14 Qb7 Qd8 15 Ba6 Kg8

16 O-O h6 17 Qc6 Kh7 18 Bb7 Rc8 19 BXc8 QXc8 20

Qb5 Rg8c

12 . . . Qb6

And somehow I’ve escaped with only the loss of a

pawn. Not sure how... +1.34

13 Be2 Re8

Firstly I’m thinking of hiding my king away and
secondly of pointing the rook at his king. There was

some very vague idea of using this in a tactic, but it was

too nebulous to pin down. +1.48

14 Nd2 Nbd7

And that’s the opening formally over. Down one

pawn, castling rights lost, bishop pair lost, queenside in
utter disarray, and still lucky that’s all that was. What a

mangling of an opening! +1.50

15 Nb3

I’m guessing Nc5 here, but beyond it being good

positionally, I don’t see any real plan behind it. +1.39

15 . . . Ne4

Attacking the weak c3 pawn. +1.47

16 Bd2 Ne5

Knight’s perfectly safe, dxN leads to Qxf2# +1.41

17 O-O

Natural move. +1.39

17 . . . Nc4

8rZ0ZrZ0Z
7o0Z0jpop
60l0ZpZ0Z
5Z0ZpZbZ0
40OnOnZ0Z
3ZNO0Z0Z0
2PZ0ABOPO
1S0ZQZRJ0

a b 
 d e f g h

The skittles room thinks all I get from this is an exchange

(BxN, dxB) that leaves the c4 pawn trapped. But in the
game, I saw the loss of the bishop pair and thought that

wasn’t the worst outcome ever given how mangled I’d

just been. +1.41

18 a4?
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I don’t know what he was doing here. I mean, it’s not
a horrible move on its own, it gets the queenside push

rolling, but I didn’t see any plan for it. Worse yet, it

opens him up to a tactic with NcxB, NxN, Nxc3 and the
queen must move to Qe1, leaving two pawns hanging)

-1.18 / +1.41

8rZ0ZrZ0Z
7o0Z0jpop
60l0ZpZ0Z
5Z0ZpZbZ0
4POnOnZ0Z
3ZNO0Z0Z0
20Z0ABOPO
1S0ZQZRJ0

a b 
 d e f g h

18 BXc4 dXc4 19 Nc5 NXc5 20 bXc5 Qc6 21 Bf4 Kf8

22 Bd6+ Kg8f

18 . . . NcXd2

8rZ0ZrZ0Z
7o0Z0jpop
60l0ZpZ0Z
5Z0ZpZbZ0
4PO0OnZ0Z
3ZNO0Z0Z0
20Z0mBOPO
1S0ZQZRJ0

a b 
 d e f g h

19 NXd2?!e

I’d missed this nice move by the engines, attacking the
queen with a5 - I still get the pawn from the opening

back but it’s nowhere near as comfortable. -1.79 / -1.26

8rZ0ZrZ0Z
7o0Z0jpop
60l0ZpZ0Z
5Z0ZpZbZ0
4PO0OnZ0Z
3Z0O0Z0Z0
20Z0MBOPO
1S0ZQZRJ0

a b 
 d e f g h

19 a5 Qd6 20 NXd2 NXc3 21 Qe1 Rac8 22 b5 Qb4
23 b6 aXb6 24 aXb6 QXb6 25 Nf3 Kf8 26 Ba6 Rc7 27

Qe3 Qb2 28 Rfc1 f6 29 Qd2 QXd2 30 NXd2 Kg8 31 f3

19 . . . NXc3

20 Qe1 QXd4

Taking the center pawn when given the choice between
b and d pawns. -1.77

21 b5

Again, this makes sense on its own, but leaves him

open to a tactic, in this case NxB+ and either QxB,
Bc3 pinning the queen to the rook, or Kh1 and the

knight leaps away and we’re up the same amount of net

material. -2.10

21 . . . NXe2+

22 QXe2 Bd3

8rZ0ZrZ0Z
7o0Z0jpop
60Z0ZpZ0Z
5ZPZpZ0Z0
4PZ0l0Z0Z
3Z0ZbZ0Z0
20Z0MQOPO
1S0Z0ZRJ0

a b 
 d e f g h

23 Qe1?!i

I didnt’ think I’d see Qe1 here, I didn’t even consider it.

I thought I’d see either Qe3 to swap off the queens or Qf3
to save them - which the engines prefer. -3.06 / -2.23

8rZ0ZrZ0Z
7o0Z0jpop
60Z0ZpZ0Z
5ZPZpZ0Z0
4PZ0l0Z0Z
3Z0ZbZ0Z0
20Z0M0OPO
1S0Z0LRJ0

a b 
 d e f g h

23 Qf3 BXf1 24 Qa3+ Kf6 25 Nf3 Qd3 26 Qb2+ d4

27 RXf1 Red8 28 Qc1 Qf5 29 Qa1 e5 30 Re1 Rd5 31

Nh4 Qd3 32 Rd1 Qb3 33 Nf3 Rc8e
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23 . . . BXf1

24 Nf3

8rZ0ZrZ0Z
7o0Z0jpop
60Z0ZpZ0Z
5ZPZpZ0Z0
4PZ0l0Z0Z
3Z0Z0ZNZ0
20Z0Z0OPO
1S0Z0LbJ0

a b 
 d e f g h

Didn’t see that coming, but it’s sound enough. How I

reacted to it was not. -3.07

24 . . . Qd3??h

8rZ0ZrZ0Z
7o0Z0jpop
60Z0ZpZ0Z
5ZPZpZ0Z0
4PZ0Z0Z0Z
3Z0ZqZNZ0
20Z0Z0OPO
1S0Z0LbJ0

a b 
 d e f g h

So I’m thinking I can save the bishop. Greed, pure
greed. Qc4 leads to the Nd2 fork, so I come in to Qd3.

The skittles room thought this bizzare, and suggested
Qe4 to swap off the queens, and the engines think it’s

out-and-out losing, but they’re seeing something six

moves away which he blundered in the game. This was
a pretty heinous mistake and a lesson for me to learn...

+11.53 / -3.07

24. . . Qe4 25 QXf1 Rec8 26 h3 Rc2 27 Qd1 Qe2 28
Qd4 Kf8 29 Qb4+ Kg8 30 Rf1 Qc4 31 Qa5 Ra2 32

Ne5 QXa4 33 Qc7 Rf8i

25 Ne5??e

8rZ0ZrZ0Z
7o0Z0jpop
60Z0ZpZ0Z
5ZPZpM0Z0
4PZ0Z0Z0Z
3Z0ZqZ0Z0
20Z0Z0OPO
1S0Z0LbJ0

a b 
 d e f g h

A very lucky escape for me, as he misses the early Qb4+
attack and goes after the queen again. -2.25 / +11.53

25 Qb4+ Kd8 26 Qd6+ Kc8 27 Rc1+ Qc4 28 RXc4+

BXc4 29 Qc6+ Kd8 30 QXa8+ Ke7 31 QXa7+h

25 . . . Qe2?j

And again chasing after lost material in a greedy way

that leads to self-destruction. +0.36 / -2.25

8rZ0ZrZ0Z
7o0Z0jpop
60Z0ZpZ0Z
5ZPZpM0Z0
4PZ0Z0Z0Z
3Z0Z0Z0Z0
20Z0ZqOPO
1S0Z0LbJ0

a b 
 d e f g h

25. . . Qb3 26 QXf1 f6 27 Nc6+ Kf7 28 Nd4 Qb4 29
Nc6 Qd6 30 Rb1 e5 31 h4 d4 32 Qd3 g6 33 h5 Kg7 34

Qd2 gXh5 35 Rb3e

26 Qb4+

And this time he doesn’t miss it, though it’s now been
blunted. I’m thinking Kd8 is mate in only a few moves,

so it has to be Kf6, he’ll come round the Knight in attack

and I’ll loop back the way I came to escape.I’ll lose the
f-pawn, but I have chances of escaping - and losing

here with my Queen sitting on his King would just be
embarressing. +0.36

26 . . . Kf6

27 Qf4+ Ke7

8rZ0ZrZ0Z
7o0Z0jpop
60Z0ZpZ0Z
5ZPZpM0Z0
4PZ0Z0L0Z
3Z0Z0Z0Z0
20Z0ZqOPO
1S0Z0ZbJ0

a b 
 d e f g h

28 QXf7+?!j

The engine’s right btw, and I saw this in the game -

that bishop’s just hanging here. -0.41 / +0.44
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8rZ0ZrZ0Z
7o0Z0jQop
60Z0ZpZ0Z
5ZPZpM0Z0
4PZ0Z0Z0Z
3Z0Z0Z0Z0
20Z0ZqOPO
1S0Z0ZbJ0

a b 
 d e f g h

28 RXf1 Qe4j

28 . . . Kd6

8rZ0ZrZ0Z
7o0Z0ZQop
60Z0jpZ0Z
5ZPZpM0Z0
4PZ0Z0Z0Z
3Z0Z0Z0Z0
20Z0ZqOPO
1S0Z0ZbJ0

a b 
 d e f g h

29 Nc6?e

8rZ0ZrZ0Z
7o0Z0ZQop
60ZNjpZ0Z
5ZPZpZ0Z0
4PZ0Z0Z0Z
3Z0Z0Z0Z0
20Z0ZqOPO
1S0Z0ZbJ0

a b 
 d e f g h

I was expecting Rc1 here and the pressure stepping up.

-2.33 / -0.20

29 Rc1 Rac8 30 Nc6 BXg2 31 QXa7 e5 32 KXg2 Ke6

33 Qa6 Qg4+ 34 Kf1 Qh3+ 35 Kg1 Kf7 36 a5 Qg4+

37 Kf1 Qf3 38 Kg1 Kf8 39 Qa7 Re6 40 Qe3 Qf5 41
a6 d4 42 Qa3+j

29 . . . d4??f

8rZ0ZrZ0Z
7o0Z0ZQop
60ZNjpZ0Z
5ZPZ0Z0Z0
4PZ0o0Z0Z
3Z0Z0Z0Z0
20Z0ZqOPO
1S0Z0ZbJ0

a b 
 d e f g h

I did see Bxg2 in the game, but I couldn’t see a clear way
out of the mating net he was working on, so I moved d4

to gain some breathing room around the king. +0.70 /
-2.33

29. . . BXg2 30 Qf4+ e5 31 Qb4+ Kd7 32 KXg2 Qe4+

33 QXe4 dXe4 34 Rd1+ Kc7 35 Re1 a6 36 RXe4 aXb5
37 aXb5 Kd6 38 Re2 Ra1 39 Nd4 g6 40 Nf3 Ra5 41

Rb2 Rb8 42 b6 Rd5 43 Nd2 Kc6 44 Nc4e

30 NXd4??i

8rZ0ZrZ0Z
7o0Z0ZQop
60Z0jpZ0Z
5ZPZ0Z0Z0
4PZ0M0Z0Z
3Z0Z0Z0Z0
20Z0ZqOPO
1S0Z0ZbJ0

a b 
 d e f g h

And that was a mistake - I didn’t think he’d think the

pawn was worth taking the pressure off. Up to now, that
queen was annoying because without it, Rf8 was mate

in two (Qxf2+, Kh1, Qxg2#) but if the rook came off

defending the e7 square, it was mate in one with Qe7#
-4.19 / +0.70

30 RXf1 d3 31 Qf4+ e5 32 Qb4+ Kc7 33 Qc5 Qc2 34

Qd5 Rad8 35 NXd8 RXd8f

30 . . . Rf8??

8rZ0Z0s0Z
7o0Z0ZQop
60Z0jpZ0Z
5ZPZ0Z0Z0
4PZ0M0Z0Z
3Z0Z0Z0Z0
20Z0ZqOPO
1S0Z0ZbJ0

a b 
 d e f g h

6


